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I i 6-10 6.1-9.0 8.1 Kk
FOEEN (mg/l) 100 24 - 61 40.8 &l
BEE P E (mg/) 10 <2-25 2.1 kL
PRPEPIE (mel) 2000 150 - 468 342 Rl
PR ED (me/) 10 <0.5-3.1 0.9 Rk
& (P E (mg) 0.1 <0.04 - 0.071 0.048 kL
RS [0 A B (me/) 100 <15 - 222 16.0 kL
I (me/) 20 <10 <10 kL
A e (me/) 0.5 <0.3 <0.3 KL
BEREHEE (me) 1 <0.6 <0.6 ps
F Pl 1A (mell) 15 <7 <7 &l
(- FEE (mgl) 2500 270 - 690 406 P
T ESTLEL (me/) 200 25 - 45 30.9 L
(0 43 22-26 24.4 P
EEIR Pu BOEPEY | EREIR TN | EREIR T P
HEES 'K

filt - (mg/l) 2 <0.4 <0.4 Fl
1 (mg/l) 5 <1 <1 Fol
& (mg/l) 0.1 <0.1 <0.1 ps
éﬁ (mg/l) 1 <0.3 <0.3 Fol
&t (mg/l) 2 <0.5 <0.5 Fl
% (mg/) 2 <1 <1 ps
& (mg/) 5 <0.2 <0.2 L
< (mg/l) 0.05 <0.05 <0.05 P
21 (mg/l) 2 <1-15 1.1 ps
&L (mg/) 2 <0.4 <0.4 L
4 (mg/l) 5 <1 <1 KL
& (mg/l) 2 <1 <1 L
) & FAE # (mg/) 10 <7-74 7.1 KL
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M (mg/l) 5 <1 <1 £L
& (mg/) 10 <2 <2 ol
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Aldrin (mg/l) 0.01 <0.01 <0.01 FL
BHCS (mg/l) 0.01 <0.01 <0.01 FL
FR K (mg) 0.01 <0.01 <0.01 FL
FHRREREM AP
H fL (mg/l) 0.1 <0.06 <0.06 KL
WRERECAP
1,1,1-= § ¢ %€E (mefl) 0.05 <0.025 <0.025 fL
LEIJ/E
% j 55 2 B (mell) 0.003 <0.003 <0.003 FL
LT R EE AU
B ETRIFT RN (pe/D) 10000 <10000 <10000 FL
§8-226 (pe/l) 30 <30 <30 FL
4.0-90 (pc/l) 100 <100 <100 £L
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(F = sig s O
i (mg/m’) 30 0.0 - 0.3 0.1 Rl
TE T (mg/m)) 200 0.0 - 143.6 7.0 Rl
E¥TE:  (mg/m’) 60 0.1 - 21.0 2.4 KL
i [~ & (mg/m’) 4 0.0 - 0.1 0.0 RL
AR
(I} = & (% 2 F ) 400 42,6 - 185.6 100.4 FL
(mg/m’)
AE A (mg/mY) 20 0.0 - 3.5 0.1 kL
— & [" B (mg/m’) 100 0.0 - 84.3 3.9 FL
(e prmim @
%F (mg/m’) 10 0.0 - 0.1 0.1 FL
T &R (mg/m’) 50 23 - 141 6.9 £L
ESTE  (mg/m’) 10 1.0 - 43 2.3 ol
(" & (mg/m) 1 0.00 - 0.05 0.02 KL
AR
(rf = & &5 80) 200 702 - 130.3 100.3 FL
(mg/m’)
FE BB (mg/m”) 10 0.02 - 0.19 0.08 KL
~ (" (mg/m’) 50 0.5 - 8.5 3.9 KL
Tp  #e
BREOP
(I & 5 2R ED 24 <4.2 <4.2 FL
(mg/m’)
(R R
AR TR ﬁ s A 18.8 <0.7 <0.7 L
(mg/m’)
Eij‘;ng()” (U 37.5 26.1 26.1 FL
R (I BEEEED (mg/m’) 5.5 <0.1 <0.1 FL
RS (" & (mg/m) 5 <1.7 <17 KL
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Bl (ma/m’) 0.05 <0.005 <0.005 Bl
T EWETD ) @
ﬁﬁl (mg/m’) 0.06 <0.001 <0.001 FL
LR O HIEE l
Bl (me/m’) 0.5 <0.033 <0.033 FL
% (mg/m’) 0.05 <0.001 <0.001 Rl
Z R (ng/m) 0.075 0.011 0.011 FL
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il #1153 B (%) ({,;; : 47-91 62.2 L
HEES
44 (ppm) 0.5 <0.5 <0.5 L
F (ppm) 0.1 <0.02 - 0.04 0.02 L
S E (ppm) 10 <0.5 <0.5 P
i (ppm) - <0.5-99 1.2 -
#0 (ppm) - <0.5 <0.5 -
i (ppm) - <1.0-4.6 1.3 -
# (ppm) - <0.5-4.7 2.1 -
S 8L 5 SRS
, - I
SE (ppm) 25 <2.5-13 5.0 $l
& (ppm) 20 <1 <1 pan
=4 (ppm) 10 <5 <5 FL
Z Bl £ (ppm) 10 <2-173 3.3 FL
& ("% (ppm) 5 <5 <5 KL
5YZ 5
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£ (ppm) 5000 <15 <15 Kl
(ppm) 10 <5 <5 xl
B O OEE 1
(ppm) 2 <2 <2 L
2 E % (ppm) 1 <1 <1 Bl
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1
(opb) 1 <1 <1 Kl




